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CHEIZAL : 2019 . 7. 7. 1871 2871 o 4] eaz [aux[wgs [ MS [ 72 [2AE[HE | &4
CHRITA : YT BN 2, R ECE]
F= A SHA -78kg | =F4 | 206kg | 250kg 426kg
EX EER
AE #xus #NUM! KG CI8 M+ #NUM! KG =4 ] Foigd X = Fol(Hxh
M= lELs ol HZ -78kg
Lot No.| 4% L4 Al b &= e /'l%(:;'(lil Ll B3
1AL 2%1 32t i T AL 2%t 32t -] L]]
25 | =194 | CHETgOHRleyT=oIn CHE | 76.90 | 1200 | 1250 x 125 7 1400 | 1500 | 1600 160 6 285 5
50 | °IX®l | FEWOHMTI = | 77.35 | 1700 | 1800 | 1850 185 2 1900 | 2000 | 203x 200 2 385 2
57 | °I%¥T T 20 | 77.80 | 1850 | 1950 | 2070 207 1 2000 | 2100 | 220x 210 1 417 1 AHE BH
89 | EMgR | FTEYOHRISEIW | FE | 76.85 | 150x | 150x x 0 8 1700 | 1750 | 180x 175 4 175 7
130 | mcppt SISMITA 20 | 77.60 | 1300 | 1400 | 150x 140 5 1300 | 1400 | 150x | 140 7 280 6
147 [ =8 FOOFIR BT [ 77.80 | 1400 | 1450 [ 1510 [ 151 4 1500 | 1550 | 1610 | 161 5 312 4
156 | 2UT | M&7FoHl=oiny | M& | 75.00 | 1200 | 1250 | 1300 130 6 150 x x x 0 8 130 8
77 | 2= | 2aryofereiseny [ 24t [ 7760 | 1700 [ 181x [ 1810 [ 181 3 1900 | 201x [ 201x | 190 3 371 3
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CHYIZA] : 2019 . 7. 7. 287 281y o o[ euz [zux [sud [ M [ FE [2FE] HE A
CHO | . R40 2 OIA jnl )
LCERRCR R EXE 72kg | BN [ 120kg | 147kg 267kg
= d EEE
= -78k 4l | 130kg | 157k 282k
AJE smus #NUM! KG Chg44 #NUM! KG 2N 058 sk | BF 30kg | 157k 82k
= 24 ugg Zoied XIZ 0N (04X
| IELsH B4 =3 -72kg, -78kg
AJE CE|ODE
Lot No.| A2 24 NE | T & A= oA w2
i 2%} 3t st w2l Tt 2Kt At it T2l
76 | 2L | &Lyl pan =0 | 6850 | 100x 103 x 107 0 107 2 100 o 1100 | 1230 123 3 230 3
80 | OB | 2IMTgoHRIN &2 e | 71,70 | 1100 1150 1210 121 1 140 0 1450 | 1490 149 1 270 1 AFE, HiE B
M8 | =FE | FEYHLAUZ=IY | F= 69.00 90 o 100 x 103 x 90 4 100 o 1100 | 124x 110 4 200 4
162 | 2FH| | BoVYOHRINE=R | 24 | 70,55 90 0 1010 108 x 101 3 1330 148x | 149x 133 2 234 2
181 | WER| | FEYNUNE2Y | FS | 77.35 | 110x 1100 1160 116 1 1300 X X 130 1 246
W2 | TS | MFYOHLINES | MIF | 73.80 | 950 1000 | 1050 105 2 1050 [ 1100 | 1150 115 2 220
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EHZIZAl : 2019 . 7. 7. 47871 2871 o & | siua [wug [ 4% [ A3 [ 78 [2FHE] HE Ll
CHEIEA : =N K ERE] -84kg | $H=A | 141kg | 146kg 287kg
F 4 285 -90kg | #H=4 | 150kg | 150kg 300kg
24 FEE +90kg | B4 | 157kg | 160kg 315kg
ARJE #@xmux #NUM! KG Che44 #NUMI KG ) o|F¥ Boied ZIHZOH (%1 xh)
H=E 7| SASH L HZ -84kg, -90kg, +90kg
LotNo.| &% 24 aNE | E & | . upm
Tt 2%t AL £ ] 52l Ll =2l
63 | MEM™| | FEYONUNTW | TS | 83.95 | 1300 | 1420 X 142 1 130 0 1 289 1 A EC|E g
T6 | S%IE | M&7Yo2led=eny | AM& | 7885 | 1000 | 110x | 1100 [ 110 2 1100 2 235 2
106 | OI8F | FEIyYoH!I=ey | Fe | 81.80 | 700 X X 70 3 105 0 3 175 3
84 | F=2°l | FEYONUNETAEW | FS | 88,10 | 1000 | 1100 | 1200 | 120 3 1200 | 1300 | 140X | 130 3 250 3
90 &2 LFPY &0' | 8840 | 1400 | 1510 X 151 1 1480 [ 1560 X 156 1 307 1 [
180 | °127% JpEnETR 7 | 88.40 | 1350 X X 135 2 1460 | 1550 | 157X 155 2 290 2 Bl = $hAl
9 ot MEITHI MZF [112.05] 1500 | 1570 | 1610 | 161 1 1500 | 1580 | 1620 162 2 323 2 A3 E B
6 | Ao | Fargoelei=einy [ 2ot [191.40 | 450 | 550 | 700 70 4 800 %00 | 100x [ 90 4 160 4
124 | &ri2 Rbaly B0 [ 9430 | 1350 | 140x | 145x | 135 3 1400 | 151X | 151X 140 3 275 3
76 | °INI2 | FEYNUNEY | FE [ 117.20 | 1550 | 165X | 165X | 155 2 1600 | 1700 X 170 1 325 1 o= g




